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Unit 3b Day 14: Using Equations to Find Inputs, Outputs, and Solutions

Focus Question: What does it mean to be a solution to a linear function?
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B. Vocabulary WS 7 Soluton>»

1 Solutions to a linear function make the equation true when they are substituted nto
the equation and it is evaluated. They are points that are ON the line.

2. Inputs are the values of the independent variable which 1s found on the x-axis.

3. Qutputs are the values of the dependent variable which 1s found on the y- axIs.

C. Using graphs to find inputs, outputs and solutions.

: l. Find the output when the inputis 2. *  ° AL O\
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B 3. Find the input when the output 1s -1.
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J. What are two solutions {0 the equatlon‘?
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6. What is the equation of the line?-
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D. Using equations to find inputs, outputs, and solutions.

|. Use the equation y = -2x + 5 to answer the following.

a. Find the output when the input 1s -3. b. What is the input when the output 1s 7‘?.

c. Find y when x = 0. Then explain what you just found.

d. Find x when y = 8. Then explain what you just found.
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e. Is (4, -3) a solution? Explain. f. Find another solution to the eqpation:.
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2. Remember we also did this with function notation: Use the function 7(x)= —x-6 10
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answer the following. \
a. Find f(-9). x="9 b. Find f(x)=-9 -9= 2, _(,
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c. find 1(0) and explain what you found.
{(0)= -Z-g (0) —le
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e. Is (-3, -2) a solution? Explain-— B/“ \ f. Give another solution to the functlon
-1 = __7:’.7;.( H-U No T pxd.uw Nalue. X=3 L) -7:(%\ v

S L Ry ¥ \j-f - OS""“‘O% /] 1 fR)= 27
-2 = =% _L?)) Lm\ ey




